| Efficiency vs Dxy |

> 0.5

S dx
=
N
(6)]
[

efficiency v

Ratio

o
N
|

o
[
[

0.95

O
005

.......................................................................

e o

025f
02

S

...............................

J-.l.QfIIII;IIII;IIII;IIII;IIII;FIII;IIII:IIII:IIII:IIII
o

S E50-15-10 =5 0

510 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

dz

0.1

—=— DQM_XIMInus_origmal
—e— DQM_XiMinus_newbranch
—— DQM_XiMinus_original_plLess

€ 0.00F i

iciency

Y=

ef

R U W & 1Y

L o e
D07
0L A T
S
s St

0,02+t
TSNS S

—+— DQM_XiMinus_newbranch_pLess

J-lL'OIIII;IIII;IIII;IIII;IIII;IIII

1020 30
TP dz (cm)




	Contents
	Page 1


